Resuelve:

2t =822 —-9=0

Solucién:
Hacemos z =22 = 22 - 82 -9=0= 2=9 y 2z = —1.
z2=9=g2 =z =43
z = —1 = 2% No Vale
Resuelve:
et — 1422 - 32=0
Solucién:

Hacemos z =22 = 22 — 142 - 32=0= 2 =16 y 2 = —2.
2=16=2° = 1 =44
2 = —2 =22 No Vale
Resuelve:
2t — 8022 —81=0
Solucién:
Hacemos z = 22 = 22 -~ 802 - 81 =0 = 2 =81 y 2 = —1.
2=8l=2>=— =249

2z = —1 =122 No Vale

Resuelve:
2t —222 -8=0
Solucién:
Hacemos 2 =22 = 22 -2 —-8=0= 2=4 y 2 = —2.
z=4=0= =42
z=—1 =22 No Vale
Resuelve:
at —242? — 25 =0
Solucién:
Hacemos z =22 = 22 =242 —25=0= 2=25 y 2 = —1.
z=25=12" = 2 =5

2= —1 =22 No Vale



Resuelve:
et +2?-20=0
Solucién:
Hacemos z =22 = 22+ 2 -20=0= 2 =4 y z = —5.
z=4=0= =42

2= —5 =22 No Vale





